Y = E

AEBRN-ZZENEF=A=+—-BEETIx :

b B Jaibes AR EE A
CFEFK)

(A) 1EBYI% BERREZWE
HEMELEHN D855 HIER IHREE 2,599
6095FAER ~ 1 ER610%61155EL

61255 F R
HEMEITELBNOSD THRAE 1,796

TSR ER 147755 2 BRER R BER

(B) BEWE
EIE ER435E T¥/RE 19,723
TNBEBERR £ H4754-565%

(C) &M
K E R TH621 FR65AE =85 3,538
BERERFIMEERIER

FE LRI AE fF= 369
R EIE 1491 £ (3= 17,608
D) BRAYE
FELEEITIOE F= 95,847
B AIE 149501 £ Ei5 32,216
B8y 2,901

* WIEYENTERRMEE=15 @ EMBREERREE -

HAHR  KEFMGER IREE

F

Fh

R

Rk

=8

RH

100%

100%

100%

100%

99%

99%

A

T

TEA

A

FETRE
LT

st

58 L

i

A

E
—TTIF
=A%

s2=/=ssnzEsa (o)



